
Red 
1) 1207 + 368 
2) _____ = 2350 + 132.5 
3)   3 6 2 1 
    ​ ​  ​8 5 ​? ​3 
    ​1 2 15 4 
4) 607.82 + 493.31 
5) _____ + 750 = 800 
6) _____ + 1256 = 3200 
 
Yellow 
1) 607.82 + 493.31 
2) _____ + 750 = 800 
3) _____ + 1256 = 3200 
4) _____ = 758.94 + 882.86 
5) 6​_​02 + 26​_​3 = 9115 
6) 4​_​88 + 325.3​_ ​= 5313.37 
 
Green 
1) _____ = 758.94 + 882.86 
2) 6​_​02 + 26​_​3 = 9115 
3) 4​_​88 + 325.3​_ ​= 5313.37 
4) _____ + 2340.8 = 8721.2 
5) 9613.84 + _____ = 16638.44 
6)  141841.927 = 98,629.58 + _____ 


